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:LG\D�$QJJXQ�6DUL � 7LQMDXDQ�3HUVHSVL�.HHPLPSLQDQ�7UDQVIRUPDVLRQDO

3DGD�'LQDV�3HQJHORODDQ�6XPEHU�'D\D�$LU�

'RVHQ�3HPELPELQJ ��<XNL�)LWULD��6(��00

3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJHWDKXL� SHUVHSVL� SHJDZDL� WHQWDQJ
NHSHPLPSLQDQ� WUDQVIRUPDVLRQDO� SDGD� 'LQDV� 3HQJHORODDQ� 6XPEHU� 'D\D� $LU�
3URYLQVL� 6XPDWHUD� %DUDW�� -HQLV SHQHOLWLDQ� \DQJ� GLJXQDNDQ� DGDODK� SHQHOLWLDQ�
GHVNULSWLI�� 6XPEHU� GDWD� \DQJ� GLJXQDNDQ� \DLWX� GDWD� SULPHU� GDQ� GDWD� VHNXQGHU��
7HNQLN�SHQJXPSXODQ�GDWD \DQJ�GLJXQDNDQ DGDODK�NXHVLRQHU��3DGD�SHQHOLWLDQ� LQL�
SRSXODVL� EHUMXPODK� ���� RUDQJ� GHQJDQ WHNQLN� &OXVWHU 3RUSURWLRQDO� 5DQGRP�
6DPSOLQJ GLGDSDWNDQ�UHVSRQGHQ�VHEDQ\DN�����RUDQJ�

%HUGDVDUNDQ� KDVLO� SHQJRODKDQ� GDWD� GLNHWDKXL� WLQJNDW� SHUVHSVL� NDU\DZDQ�
WHQWDQJ�NHSHPLPSLQDQ�WUDQVIRUPDVLRQDO�SDGD�GLQDV�3HQJHORODDQ�6XPEHU�'D\D�$LU�
3URYLQVL� 6XPDWHUD� %DUDW� WHUPDVXN� GDODP NDWHJRUL� VDQJDW� WLQJJL�� 'HQJDQ� KDVLO�
WHUVHEXW�.HSHPLPSLQDQ�LQL�VXGDK�ELVD�GLNDWDNDQ�EDLN�GDQ�KDUXV�GLSHUWDKDQNDQ�

.DWD�.XQFL� 3HUVHSVL�.HSHPLPSLQDQ�7UDQVIRUPDVLRQDO�


